
153205-888    6/15/2021  REV A 02 AP 2 

A Division of KW AUTOMOTIVE North America, Inc. 

18+ JL WRANGLER LIFTING 4WD 4" 

2018TB FRONT STREET PERFORMANCE SHOCK 2 

153205-118 FRONT COIL SPRING 2 

153205-120 FRONT UPPER CONTROL ARMS 2 

153205-121 FRONT LOWER CONTROL ARMS 2 

153205-122R FRONT ADJUSTABLE ENDLINK (RIGHT) 1 

153205-122L FRONT ADJUSTABLE ENDLINK (LEFT) 1 

153205-123 FRONT ADJUSTABLE TRACK BAR 1 

153205-130L FRONT BRAKE LINE BRACKET 1 

153205-130R FRONT BRAKE LINE BRACKET 1 

2220TB REAR STREET PERFORMANCE SHOCK 2 

153205-200-99 REAR TRACK BAR RELOCATOR 1 

153205-210D REAR DRIVERS COIL SPRING 1 

153205-210P REAR PASSENGERS COIL SPRING 1 

153205-211 REAR UPPER CONTROL ARMS 2 

153205-212 REAR LOWER CONTROL ARMS 2 

153205-215 REAR ADJUSTABLE TRACKBAR 1 

153205-216 REAR ADJUSTABLE ENDLINK 2 

153205-777 HARDWARE KIT 

112050 BOLT M12 X 1.75 - 35MM 1 

111099 BOLT M12 X 1.75 - 90MM 1 

110243 NUT M12 X 1.75 2 

110228 M12 WASHER 3 

153205-200C TRACK BAR SPACER 1 

Belltech 4" Lift Kit - 153205HKP

Included Items




